Lesson 1, week 1

Example Summative Items
Measurement
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1.1. Ms. Wenyan wanted to know how long Ms. Lucas’s table is. She used a 12 inches ruler to measure it and when she flipped the ruler, she did not notice that she left gaps between each flipping. Besides leaving gaps, she was careful in using and reading the ruler otherwise. What do you think her measurement would most likely come out to be? 
a. Larger than the actual length of the table

b. Smaller than the actual length of the table

c. It could be either larger or smaller than the actual length of the table.

Why?
________________________________________________________________

________________________________________________________________

1.2. Carl later told Ms. Wenyan that she had left gaps when she flipped the ruler. So she decided to measure the length of the table again. This time she was careful not to leave gaps between, but she flipped the ruler so tight that they overlapped. What do you think her measurement would most likely come out to be this time? 

a. Larger than the actual length of the table

b. Smaller than the actual length of the table
c.  It could be either larger or smaller than the actual length of the table.
Why?
________________________________________________________________

________________________________________________________________

Display Creation
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2.  Everyone in the class measures the size of Nick’s plant that he grew at school (in mm). 

53, 70, 73, 76, 81, 81, 82, 82, 83, 83, 84, 85, 85, 91, 92, 99

Nick wants to make a display of the data. Choose the set of bins that will best help him see the shape of the data on the display.

a. 50-59, 70-79, 80-89, 90-99
b. 50-54, 55-59, 60-64, 65-69, 70-74, 75-79, 80-84, 85-89, 90-94, 95-99

c. 53-81, 82-90, 91-99

d. 50-51, 52-53, 54-55, 56-57, 58-59, 60-61, 62-63, 64-65, 66-67, 68-69, 70-71, 72-73, 74-75, 76-77, 78-79, 80-81, 82-83, 84-85, 86-87, 88-89, 90-91, 92-93, 94-95, 96-97, 98-99 

e. 50-74, 75-99

Now look at one of the answers that you did not choose. Explain why you did not choose it.

























____________

Display Discussion
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3.  All the students measured the table using the small ruler. Here are three displays of the same data. Choose the display you think is best for each of the following purposes and explain why you choose it.

	3.1.   To show the differences between measurements of the table it is best to use: 

( ) graph A

( ) graph B

( ) graph C

Because: ______________________________________

____________________________________________________________________________

3.3.  To show where most measurements are in data is best to use 

( ) graph A

( ) graph B

( ) graph C

Because: ______________________________________

____________________________________________________________________________

3.3.  To show where the location of the mode is best to use 

( ) graph A

( ) graph B

( ) graph C

Because: ______________________________________

____________________________________________________________________________
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